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l. Incentive Model
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OO000DOo $n$ 000000000000 00D00D00D0O000OD0O0O $xy$O0ODoOoOoOoOo
$stake$ 0O O ${\fracxy}$ 0 $1-{\fracxy}$ 0 0000000000000 $stakes DO OO
O $stake$ (D0 0000000 DOOO0O0DODOOO0O $stake$ 000 $wW$OO OO OOODODOOOO
000000 $998244353$ 0 O O
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D000D000D000 $i$0000000 $X~{i}$00 $i$ 00 $stakes OO DO $S {i3$ 0
000 $S {0}={\frac xy}$
00000 $X_{i+1}={\frac {S_{i}} {1+wxi}}$ 0$S {i+1}=S{i}+wxX {i+1}$

000 $S {i+1}=S {i}+wx({\frac {S_{i}} {1+wxi}})=S {i}x(1+{\frac w
{1+wxi}})=S {i}x{\frac {1+(i+1)xw} {1+ixw}}$

000 ${\frac {S_{i+1}} {1+(i+1)xw}}={\frac {S_{i}} {1+ixw}}=...={\frac {S_{0}}
{1+0xi}}={\frac x y}$

000 $S_{n}={\frac x y}x(1+nxw)$
000000000000 ${\frac {S_{n}-{\fracxy}} {w}}$

000000000 ${\frac x y}xn$
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#include <bits/stdc++.h>
#define int long long
using namespace std;
const int mod=998244353;
int gpow(int a,int b,int m=mod
int r=1;
b
b&1) r=r*a%m;
a=a*a%sm, b>>=1;

r;

int n,x,y,w;
#undef int

int main
scanf("%lld %lld %lld %lld",&n,&w,&x,&y) ;

printf("sLld\n",n*x%smod*qpow(y,mod-2)%mod
0;
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